LE=HE TESRE| BINER BEHUR TR | PR | BEESR
*ZHiIEET 2570 200| % MmEE |FERM| 1
*ZHIIEET 2570 200 R MEE R 4
*ZHIIEET 2570 200 #F MEE |RERI| 6
*ZHIIEET 2570 200/ % MEE |FRERYL] 11
*ZHIIEET 2570 200 #I MRE |E&P| 6
*ZHAIEET 0 200] =2 MRE |FEH 1
*ZHAIEET 2570 200/ %= MRE |HFE| 3
*ZHIIEET 2570 200 = MRE |HFE 4
*ZHIIEET 0 200 % MRE |AZE| 10
*EIEH T ERAN(Z) 770 5100 = MREE |KEIE| 10
*ZHIIEET 2570 200 £ MRE | 13 1
*ZHiIEET 2570 200] %= MRE | 13 1
*ZHiIEET 2570 200 #F MRE | 13 8
*ZHAIEET 2570 200 #k MEE (A% 5
*ZHAIEET 2570 200 = MEE (B 7
*ZHAIEET 2570 200 MEE (B%d| 11
*BIER T ERN(Z) 770 510, 2 MEE (B%d| 13
* REEEII(A) 640 0 & —&F | 13 | 13
PIBK(C) 770 200 R —&F | 13 | 13
TIBK(B) 0 250 # —F | 19| 26




* = IK(B) 1285 150] FEREIE —F 191 | 27
*RHERIR- BEHERA 640 0 =SNH —F | 23| 12
*BIER T ERN(Z) 770 5100 SM# —F | 23| 12
PIBK(A) 1285 250 =MA —F | 23| 14
*RHERIER- BEE/NEE 770 1200 R —F | 23 | 22
*ORKRIEZ- FEKERA 640 0 SRMH —F | 23 | 22
*EEEEI(B) 640 0 SR —F | 23 | 22
*BIER T ERNI(Z) 770 510 5K —F | 23 | 22
*REEEII(A) 640 0 =FpH —F | 23 | 23
* Bt (FrFEER) 770 150 EIE —%F | 33 6
*E 1t (FrFEER) 770 150 =J= —F | 3P| 13
*EELEII(A) 640 0 ZPHE —F | 3P | 18
*EIER T ERNI(Z) 770 510 B —F | 3P | 19
*EEEEI(B) 640 0 RM# —F | 3P| 23
* = IK(B) 1285 150 EXH= —F | 3P| 25
*RERIE- BEE/NEE 0 1200] BB #% —F | 431 | 12
*x R EEEI(B) 640 0 JhME —F | 431 | 14
*EA 770 30 LE —F | 431 | 14
*BIER T ERN(Z) 770 510 EME —F | 431 | 14
* REESII(A) 640 0 ZFP=E —F | 491 | 20
* REEEI(B) 640 0 ZFP=E —F | 491 | 20




PIBK(C) 770 200 —F 53 6
* B (FrFIER) 770 150 —%F 53 7
* =IK(A) 1415 0 —%F 50 | 14
PIEK(A) 1285 250 —F 6 It 2
*ARRRBE- FEHEA 640 0 —%F | 6 | 3
*EEEEII(A) 640 0 —F 731 | 14
PIEK(A) 1285 250 —fF 73t | 14
*ARRRBIE- FEHEA 640 0 —%F | 7Y | 16
* R EEEI(B) 640 0 —fF 731 | 16
PIBK(C) 770 200 —F 73t | 16
PIZK(B) 1285 250 —F 73t | 20
*EIEH T ERAN(Z) 770 510 —F 73t | 25
PIBK(A) 1285 250 —F 191 3
*ARRREB- FEE/NMEE 770, 1200 —F | 24 1
*ARRBE- FEEHEA 640 0 “F | 23| 6
PIBK(B) 1285 250 _F 2 6
*RERIE- BEE/NEE 770 1200 _F 23t | 12
*RRRBIE- BERHBFA 640 0 —F | 23| 12
PIBK(A) 1285 250 —F 23t | 12
PIBK(B) 1285 250 _F 23t | 12
PIBK(C) 770 200 _F 23t | 12




PIZK(B) 1285 250] CHMIE —F | 29| 20
PIBK(C) 770 200, MM —F | 31 3
*RHERIR- BEHERA 640 0 EJF —F | 31 7
PIBK(A) 1285 250 MY —F | 3P| 20
TIEK(B) 1285 250 M —F | 3P| 20
PIEK(C) 770 200 MNP —F | 3P| 20
*EEEEI(B) 640 0 =ME —F | 43 1
*=A 770 30 =ME —F | 43 1
PIBK(A) 1285 250 =M1A —F | 43 1
*RHERIR- EE/NEE 770 1200 fRENEE —F | 4 9
*EIEH T ERAN(Z) 770 510, fRIMEE —F | 4 9
* Bt (FrFEER) 770 150] R E —F | 4 9
*RKRIR- FEKERA 640 0 &ENAR 49| 11
* Bt (FrFEER) 770 150] &N AR 49| 11
PIZK(B) 1285 250 SRENFA _F | 498 | 13
* ZIK(A) 1415 0 2% _F | 431 | 15
* =3K(B) 1285 150 2% _F | 431 | 15
*BIER T ERN(Z) 770 510, 2% —F | 431 | 15
* B (FrFER) 770 150 2% —F | 431 | 15
PIBK(B) 1285 250 2% —F | 431 | 15
PIBK(C) 770 200 2% —F | 431 | 15




*ZEEEII(A) 640 0 —F | 491 | 19
* =IK(A) 1415 0 —F | 4PF | 25
*EIRR LT ERN(Z) 770 510 —F | 418 | 25
* Bt (FrFEER) 770 150 —_F | 431 | 25
PIZK(B) 1285 250 —_F | 431 | 25
PIEK(C) 770 200 —_F | 431 | 25
* =3K(B) 1285 150 _F 53 2
*ORRRIE- FEKERA 640 0 _F 53 4
PIZK(A) 1285 250 _F 53 4
* =IK(A) 1415 0 _F 50 | 22
*E 1t (FrFEER) 770 150 _F 50 | 22
*EEZEI(B) 640 0 _F 6 3t 1
*RHERIR- EE/NEE 770 1200 —F 63 | 11
*EEEEI(B) 640 0 —F 7 3t 4
*EA 770 30 —F 7 3t 4
*BIER T ERNI(Z) 770 510 _F 7 31 4
* ZIK(A) 1415 0 _F 7 31 8
* B (FrFER) 770 150 —F 7 31 8
*RRREB- FEE/NEE 770 1200 = 191 | 12
*ORKRIE- FEBEKEREA 640 0 = 191 | 12
*BIER T ERNI(Z) 770 510 = 191 | 27




*RERIE- BEE/NEE 770 1200 QNS = 191 | 28
PIBK(C) 770 200| EMIE = 191 | 28
*ARHRIR- EE/NEE 770 1200 7HEYE = 23 3
*ORKRIER- FEKERA 640 0 7pps = 29t 3
TIBK(A) 1285 250 RS = 29t 3
TIEK(B) 1285 250 FHRPE = 23t 3
Pk (C) 770 200 FHEPE = 23t 3
PIEK(C) 770 200 PREYEE = 23 4
PIZK(A) 1285 250 FRENNB = 23t 6
PIZK(B) 1285 250 PFRENB = 23t 6
PIBK(C) 770 2000 Q= = 23t | 16
PIBK(A) 1285 250 sRE = 33 | 20
PIZK(B) 1285 250 sRE = 33 | 20
* =IK(A) 1415 0| AP = 33t | 27
* =IK(A) 1415 0 ZENE = 4 31 1
* = 3K(B) 1285 150] Z W& = 4 31 1
PIBK(C) 770 200 ZME = 4 31 1
* = 3K(B) 1285 150 S=pE = 4p1 | 10
* B (FrFER) 770 150 ==[HT = 491 | 13
*EA 770 30 PFREZ = 53t 5
PIBK(B) 1285 250, E@E = 59 | 11




*BIEH T ERN(Z) 770 510 iS5 = 5 | 15
* B (FrFIER) 770 150] & [iE, = 6 3t 3
PIBK(A) 1285 250 FHF = 631 | 10
Pk (C) 770 200 EEM= = 63 | 14
* Bt (FrFEER) 770 150 M= = 63 | 21
*EEEEII(A) 640 0 REIZK = 7 1 9
PIEK(A) 1285 250 R = 7 3t 9
PIBK(A) 1285 250 FWim = 73t | 13
Pk (C) 770 200 FHf@ = 73t | 13
*EIEH T ERAN(Z) 0 510, #M= = 8 it 9
* ZIK(A) 1415 0| 3RNIE = 83t | 11
* = IK(B) 1285 150| SRS = 83t | 11
* Bt (FrFEER) 770 150| SRS = 83t | 11
*EA 770 30 ZFPEE e 191 6
*RHRIR- EE/NEE 0 1200 & e 191 | 13
*ORKRIEZ- FEKERA 640 0 Rl& e 191 | 13
*RERIE- BEE/NEE 770 1200 #@BER e 191 | 16
*EA 770 30 ERES kS 191 | 25
PIBK(C) 770 200 HREAH Mg | 29 1
PIBK(A) 1285 250 =ME meE | 29 2
* B (FrFER) 770 150 MEFE M | 23 | 11




PIZK(B) 1285 250 llkeS 23t | 11
* BT GHTFERR) 770 150 meE | 2P | 21
PIBK(A) 1285 250 ik 23 | 22
PI3K(B) 1285 250 meE 33 2
PIEK(A) 1285 250 meE 33 6
PIZK(B) 1285 250 meE 33 6
PIEK(C) 770 200 e 33 6
*ARRRBIE- FEHEA 640 0 e | 33F | 9
PIZK(A) 1285 250 e 33 9
* A 770 30 = ik 33 | 15
PIZK(B) 1285 250 ={R ik 33 | 15
*EEZEI(B) 640 0 == ik 33t | 17
PIBK(A) 1285 250 =M= e 33t | 17
*EA 770 300 == e 33t | 18
PIBK(A) 1285 250 M | 43 1
PIBK(B) 1285 250 g | 491 1
PIBK(C) 770 200 g | 491 1
PIBK(A) 1285 250 M | 43 | 11
PIBK(C) 770 200 M | 43 | 11
PIBK(A) 1285 250 e 59 | 10
PIBK(B) 1285 250 e 59 | 10




PIBK(C) 770 200 &MF llkeS 53 | 10
PIBK(C) 770 200, M ik 5 | 11
*ARHRIR- EE/NEE 770 1200 FREE= ik 59 | 19
*SA 770 30 I meE 6 3t 6
PIZK(B) 1285 250] FmPK meE 6 3t 6
* A 770 30 = meE 63 | 22
PIEK(A) 1285 250 == e 63 | 25
PIEK(A) 1285 250 REE hi 13t 4
PI3K(B) 1285 250 REE hi 13t 4
PIBK(C) 770 200 REE he 191 4
* A 770 30| & he 191 | 20
PIBK(C) 770 200| ZFET heE | 23 4
PIZK(B) 1285 250 =R hE | 23 8
*ORKRIR- FEKERA 640 0 W& hE | 23 9
*RHRIR- EE/NEE 770 1200 SPE he 391 | 17
PIBK(B) 1285 250 MR he 331 | 21
PIBK(C) 770 200 MR he 331 | 21
*EA 770 300 PR hE | 43 5
PIBK(A) 1285 250 E@F heE | 431 | 14
*BIER T ERN(Z) 0 510 #MZ heE | 4PF | 19
PIBK(B) 1285 250 ENR he 5 | 17




PIBK(A) 1285 250 SR he 531 | 20
*RHERIR- BEHERA 0 0 PBEREIN heF 631 | 10
* A 770 300 Efx heE | 7 1
* =3K(B) 1285 150 ENx hE | 7T 1
* A 770 300 =% hE | T 2
* =IK(A) 1415 0| ZEFMth heE | 7P| 10
* =IK(B) 1285 150| ZEBENtA heE | 7P| 10
*=A 770 300 =PE heE | 73| 13
PIZK(A) 0 250 BEQIE heE | 83 6
PIBK(C) 770 200 BERIE heE | 83 6
PIBK(C) 770 200| ZPEA heE | 83 6
PIZK(B) 1285 250 ERF= heE | 831 | 11
PIBK(A) 1285 250 == heE | 831 | 21
PIBK(A) 1285 250 =& N 191 | 14
PIZK(B) 1285 250 =& N 191 | 14
*RERIE- BEE/NEE 770 1200 56 NE | 23 1
PIBK(C) 770 200 ZJ NE | 23 1
PIBK(B) 1285 250 HmEF NE | 23 6
PIBK(C) 770 200 HmEF NE | 23 6
PIBK(C) 770 200| MEER NEO| 231 | 21
PIBK(C) 770 200 EBA N 231 | 22




PIBK(A) 1285 250 NE 33 5
PIZK(B) 1285 250 INEE 33 5
PIZK(B) 1285 250 N 53 3
*EEEEII(A) 640 0 N 83t | 19
*EEEEII(B) 640 0 N 83t | 19




LE=HE HEEE BRINEH TR | PR | BESR
*ZHRE REAMT 9410 1960 —% | 23 6

*ZHIRE R 9410 1960 —& | 2P | 22
*ZHIRE R 0 1960 —& | 491 | 12
*ZHIRE R 9410 1960 —& | 491 | 24
*ZHIRE R 9410 1960 —F | 23 1

*ZHIRE BRI 9410 1960 —F | 3 7

*ZHIRE R 9410 1960 —_F | 491 | 15
*ZHRE REAT 9410 1960 —F | 4P| 25
*ZHRE R 9410 1960 —F | 53| 21
*ZHRE R 9410 1960 = 731 | 21
*ZHRE REAT 0 1960 M | 13 | 13
*ZHRE REAMT 9410 1960 m&E | 19t | 16
*ZHRE REAT 9410 1960 mE | 1H1 | 24
*ZHIRE BRI 9410 1960 M | 33 | 21
*ZHIRE BRI 9410 1960 msE | 73 | 16




